OCR

Oxford Cambridge and RSA

Tuesday 21 June 2016 - Afternoon

GCSE BIBLICAL HEBREW
A202/01 Literature

—_— Candidates answer on the Question Paper.

OCR supplied materials: Duration: 2 hours
None

Other materials required:

None
Candidate Candidate
forename surname
Centre number Candidate number

INSTRUCTIONS TO CANDIDATES

+  Write your name, centre number and candidate number in the boxes above. Please write
clearly and in capital letters.

+  Use black ink.

+  Answer four questions.

. Read each question carefully. Make sure you know what you have to do before starting
your answer.

+  Write your answer to each question in the space provided. Additional paper may be
used if necessary but you must clearly show your candidate number, centre number and
question number(s).

* Do not write in the bar codes.

INFORMATION FOR CANDIDATES

+  The number of marks is given in brackets [ ] at the end of each question or part
question.

+  The total number of marks for this paper is 100.

. Each question is worth 25 marks.

+  The four-letter Divine Name is printed as 1 .

*  You will be awarded marks for the quality of written communication in English.

+  This document consists of 28 pages. Any blank pages are indicated.

© OCR 2016 [J/501/5375] OCR is an exempt Charity
DC (ST) 135821/3 R Turn over



2
Answer any FOUR questions.

Question 1
Read the following passage. Answer the questions in English.

Paragraph 1

line number

AYT RI 37 AWK W 9R R 08D KI27 20p0 WK N
DT AWK 179R] D7 TOR IR 0D T DR AR NDY AWK 03
T72Y2 07 20 WAL AR ONNR RI MR 110 0K DR MM

== Ty .

72232 "WR1 NI

Paragraph 2
TR T DA 7Y 71293 TRTI0 KI WRw M)
T 7373 YI0 YT 0AR? MR 119y D991 YT v
:1IY NIRR V2N DOR 1Y) D71 077 N9 PN T
12173 W22 IRYY 12 7R VN 77 372 WK VAT DY 03
7171 721 7272 73R 0iPW2 TR 7% Xiap AN
N2 WWa Y h3T TY VRN 1Y 0% X9 02 130 12 YO
PRI DT 12 02V W WK 7O WY a0 737 W A9
NRTT YR DX AN FY717 ARG 0072 0728 DX 00 NI X0 092
NR) 717 DY) "R DY 27D 73 2730 1737 TY 0710 O
NXY *IRT NN (PR DX 1180 DR AT XY 2ITRT

POIT DX PWINAT XY PI8IT

NI-2998 248V 2V N2
Genesis, Chapter 12 Verses 11-13; Chapter 15 Verses 12-21
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(@) Who is speaking in Paragraph 1?

(b) Translate Paragraph 1.

line number
YT R 737 IR W 08 R MR K2 0 WK T
NRT AWK 1K) 028000 AR IR 02 ) AR IR N AR 2

TN 77 207 07 DY O KW W AR IR RT3

_____

.............................................................................................................................................. [4]
(©) () PX TN N9} AWK 23 "NYT) K1 737 (lines 1-2)
What is surprising about this statement?
...................................................................................................................................... [1]1
(i) Offer a solution.
...................................................................................................................................... [1]
(d) Explain the use of the Hiphil conjugation in 3’7.?:‘ (line 1).
.............................................................................................................................................. [1]
Turn over
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4
(e) What does G-d tell Avram/Abram about the future (lines 6—8)? Give two points.

.............................................................................................................................................. [2]
(f) 737 7Y OART 1Y 0Y KD 03 737 1210 927 13T (lines 9-10)

Explain the ideas expressed in this verse. Give four points.

.............................................................................................................................................. [4]

(g) Translate.
line number

N2 WRWD T 10
TIRT DO 12 02y WK WX 21 WY a0 mam g Ay 1

(h) Explain the use of the verb N7 in the phrase N°72 0)AX NN > N2 (line 12).
Give three points.

© OCR 2016



(i) Why is there a dagesh in:

(i) QAT (line 11)

...................................................................................................................................... [1]
(i) 33N (line 13)?
...................................................................................................................................... [1]
() What is the function of the letter Y in:
(i) T°DNAR (line 9)
...................................................................................................................................... [1]
(i) °IATRT (line 14)?
...................................................................................................................................... [1]
(k) Where is N3 31 (line 13)? Give two points
.............................................................................................................................................. [2]

[Total: 25 marks]

© OCR 2016 Turn over



Question 2

Read the following passage. Answer the questions in English.

line number

003 078 T 28 3 DTN TR TR DN TR O T X)X

NP2 0P 1137 DTTY TR T PR AP P2 0002 IX 0Rp
22 DX T TS O TR YA T 0003 PG YU D0 77
DIFVRN 78 DT N SDUTRTN? D N D71 MY 1932 1N
WY N2 DT DT IR YN AN VYD N2 1Y AN

DR7RP 27 92 D7 PV AN Y P 0PI TR IMYD

D27 7 0 NIY 131 0P "3 MR NIK? 7 8207 R Ny
T TYI K2 WK 12113 70 Q2 NIp M3 T2 0T 11 73
071 NM127 02732 0712 70N 7202 NI AR 7 T P
TR RVIT WD D23 1779 T3 MY 2 X2 K 131 7

997 °0°72 DX

SARY W 02 MW AW DY RPN R? AWK MY 077K 28 07K RN
P NaRn DRY 270 DIA7 AN 7°R2721 12 77 139R OAN] 03] ADK "R
N2 70 ORY TP AW AR 1270 1272 MR PO 132 2 D772K 9B
TR CTIDY AT ORYRY? 10 DOTPTRT 98 072K RN 1790 MY oYY
N2 DY DRI PR W DY DRIPY 12 77 NTP° IRWR TP 228 20T
IR 10K PRI 73T PRYRY ORYRYI N WD 079 1727 nK
22973 2939 AN TPH9 oW Y DO TR TR72 0K 02277 IR

NG MWD AT T2 70 77 720 WK PO DY 2K D772 DY)

TT -

NO-1 771 °WNT2
Genesis, Chapter 17 Verse 5; Verses 7-21
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(@) Who is speaking in line 17?

.............................................................................................................................................. [1]
(b) (i) Why is the name of Abram/Avram changed to Q31X (line 1)?
...................................................................................................................................... [2]
(i) Explain the presence of the letter 7 in the new name.
...................................................................................................................................... [1]
(c) Explain the use of the pronoun DX (line 5).
.............................................................................................................................................. [1]
(d) Give six points of the covenant (lines 5-11).
.............................................................................................................................................. [6]
(e) Give the root of 1Di] (line 11).
.............................................................................................................................................. [1]
(f) Write two of the statements G-d makes about Sarah (line 13).
.............................................................................................................................................. [2]

© OCR 2016 Turn over



(g) Translate.
line number

N33 A OXY 777 TIW ¥R 1370 1292 RN PO VI Y 07RO 14

TR 1IDY T ORYRY 17 DOTPRT 9K DTN MR 172D MY DOV 15
T2 DX TR POY Y Y OXR1 12 77 NTP AW T T Dy 16
"9 0K DI 73T TAYY IRYRYIR R I 07w Ry ek 17

9173 2937 AN TP oWl Y 00w TRY TRN2 INR SN2 Nk 18

.............................................................................................................................................. [6]
(h) Write two points about the derivation of the word ‘7;& (line 16).

.............................................................................................................................................. [2]
(i) Give three examples of a preformative n (introducing a noun) in these paragraphs.

.............................................................................................................................................. [3]

[Total: 25 marks]
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Question 3

Read the following passage. Answer the questions in English.

line number

YRR 7 2P 120 N72770K] 1IN 172 92 98] AN WD 9y 0T,

29 I3 WY I UOIN 2N 100 2001 3702 751 7293 oI
PIR TIT MW RT3 TR DX ANAYYTIN 170D WY
D13 7197 9790 D°RY 1T DT W IAXTIWN 297 72 7N
T2 R TR0 1IN DX QRN AT IO 720 T 129

VIR INTON TR PN YT 12 I 130K TR 7P Y
71932 W3 LAWY T2 NIIONTRY T 03 <) 233 nnd
NIN337 0¥ 72 X371 17y Ni337 07 22 3907 793 717733 0397
NI 110) 2IP-R 0P Ay 7 MAR? M7 Yaw o 1iva anh M7 NN
1027 QYD) TRIRD 22 IR QNP OYLN WHwnTRid 019970K 0

DY 23 W :2W DY 92 1Y Ngud APy WK Y22 0prya U
03 13 DI NN N7 TR 0N XY 03 Xing 0F2 PR 221
28702 73 o 993 AT W2 TN K9 172 0% 707 KN
"I DOWR TINY IR TPRT DOUIN TR MW 71 090 "I
nyp Y AwY? 0w
"I 9723 PRI 1T IDTTINACR NI M 72 NYIR Y
"33 27 10 OV 1393 TN O YR 1T DT 00w
327Y 20D NN 02 0232 13 NIRRT T

I D13 TY D073 QYT 0a DONONAT N30

A-R'7,/09 — 02 "2 2 DRI
2 Samuel, Chapter 3 Verses 29-39; Chapter 4 Verses 1-3
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1
(@) (i) Who is speaking in lines 1-27?

(b) Translate.
line number

TR ARTIR T2RT 1PN 6
29933 W37 DAYMI?TR? 72371 NINORTRY 777 AR N 221N 7
NiN33% 0Y7 22 RaN 1Ry Nisa? QYd 22 WO N1 MW 097 8
09 10Y 2IP-K VP Ay I MR? My vawm o Tivaon iy 9

127 QYUY NG 92 IR O77TOYYN WhawntRi Ry 10

1200 DY 22 1Y TR TPY WK D33 oprya w1

© OCR 2016 Turn over



12
(¢) Inlines 5-6 and 9—10, David shows by his actions how upset he is. Give three examples.

(d) What points does David make in his speech (lines 13-15)?

Give three points.

(f) How did Abner’s death (line 16) affect:
(i) the son of Saul?
(ii) Israel?

(9) Explain the phrase 2IRW™12 1°7 (line 17).
Give two points.

© OCR 2016
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(h) 703 DNIRAT M2 (line 19). Suggest why the Be'erothites/Be’erotim act in such a
way.

Give two points.

.............................................................................................................................................. [2]
(i) Write the conjugations / binyanim of:
(i) D72 (line 1)
...................................................................................................................................... [1]
(i) 1327 (line 6)
...................................................................................................................................... [1]
@iy NN (line 7)
...................................................................................................................................... [1]
(iv) W33 (line 7).
...................................................................................................................................... [1]

[Total: 25 marks]
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Question 4

Read the following passage. Answer the questions in English.

Paragraph 1

line number

PPN T TRLY 2JT ARG 1RO 73N TTTON DRI 00D WA
ROXVT Q0 AR Y T2 Y Na oW RwT) 2ingtos

PXWNN BYTIN YN DK T7 7 MR 98NN X0

131727 T2RT798 PR "IR1792 N2 ORIV TR AN AN
DXV TR TN MR > 0397 117202 1012 MT 1780 07 1NN
DI VAW ATV 720 11302 770 MW D'V 19903 M7 MY w3
TR) AT 202 9Y A WU oW q7n D29 DU AYY
°2 713 KI2ND TaR? TIT7 VIR PIRT WP 000N D20 TYR 29T
1% NT¥H DX T 797221 1737 117 RITXH 0K 00057 27 77°07 0N
D°770977NKY T9IX2 YI°) 022 7170 RITT 012 TIT MR 1TIT Y RO
;272N K122 KD 7991 MW 1KY 19709 M7 W93 X 2 WX

T T2 RIRTTI 139 NT I VY ARYN AR N W
YY) TITTOR DOOR7D XTI PN YN iy NiRQ-X -8 21T 7197
TR ™ DYTR MT VTN HTTY MW TR I YN PY W TN

o8 0y M2w3 iR2nn K3 D) PRIy

Paragraph 2
a2 M7 Y 07X 72V noan oIR8 1RTIN DY M7 990
TY7922 712729 MY RV W A2 DTYE AWY 2 77K ORI 17 00 M
YN TIRTNN 2750 PRI 102791 TIT) 172 TIOR WA T > 0397
NP 11900 TV 79RWI DIRYTN2 D201 TIT Y K2 2 PR ) 1093 9ipa3
17272 12 1M > 2197 127913 19N 1T 700NN

-2, 2-8:7 12 SN
2 Samuel, Chapter 5 Verses 1-12; Chapter 6 Verses 12—16
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15
(@) Why is David in Hebron? (line 1)

.............................................................................................................................................. [1]
(b) How do the Israelites try to win favour with David (lines 1-4)?

Give three points.

.............................................................................................................................................. [3]
(c) Give two points about 0277 mentioned in line 8.

.............................................................................................................................................. [2]

(d) What do the 92> mean by 073057 D1V 77°0770K ° 1137 RIAN™RY (lines 8-9)?
Give three points.

© OCR 2016 Turn over



16
(e) (i) Explain the phrase 71IX2 VAN (line 10). Give three points.

...................................................................................................................................... [3]
(ii) What is the root of 1127 (line 10)?
...................................................................................................................................... [1]
(f) What does Hiram/Chiram send to David (lines 13—14)? Give three answers
.............................................................................................................................................. [3]
(@) Whyis Y (lines 6 and 7) in the singular?
.............................................................................................................................................. [1]
(h) Explain the use of the letter N in:
(i) NIT2 (line 2)
...................................................................................................................................... [11
(i) NILD (line 9).
...................................................................................................................................... [11

© OCR 2016
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(i) Translate Paragraph 2.

line number

ARYR N VY OTY 72V 002 0-RT IR YN NI AN 16

792 12720 TIT NV W 1A DTV AT > N R TgE e 17
AYIIN2 > TIRTNN 2°7¥0 PR 1°27921 TITY 72 TIOR M N7 7 0197 18
XM 11907 792 | A9RWI PIRYTNA D201 TIT Y R 2 IR ) 0w 9ipa1 19

112732 12 1211 > 2197 127217 119n M7 TRaTNE 20

[Total: 25 marks]
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Question 5
Read the following passage. Answer the questions in English.

Paragraph 1

line number

TPY2 1 ONRER PITA VIR MHRA TXW NAYA 39 7Y 9om

N WY WK 727 T T 7Y MR TR T 023 200 IR
DY 2% *27M INT20 YN TRN) TN A TR N2 I 0700
AW ARN2Wn am T7¥9 > oY) [0iWRY Yinn nyT) XY WY

T RYAR MM 1101 NAR NIDN? DR WK PRI OI0-K 2 avn
NOXD TN X7 2J0X) I009Y 27 7Y 72T 21 19003 02 I Y3
D720 D073 1 DP2X) 070 "WA 23R Y7 192 17 MNN i ngv
0P YR 22KM *9R A7 LI DMYIPT T8 2PN YN I09
N1 VR2R DNV 12 03 MR VI DR TR R vRhh opm

T2 1730 KDY T0RD ORI O°N2RT 1M A2 9% YW o nv?an
DMWY A9°K2 T AYR? WK NN VAN 2WT 7Y ATP2 bp2m

NR A7 1M REIN 70RY WK DR Aning XM YD Xiam Kkpm

YN TINIT WY

m-2:2 09
Ruth, Chapter 2 Verses 10-18

© OCR 2016

1

2

10

11

12

13



19
Paragraph 2

line number
WK 29 137 73 D07 FYRNT 2] APINGT 0¥ 0N D197 N 14
T IR Y27 XA VN ORIV INT YR 0 A 15
N T3 °2 O ODX O°TY DY 721 UM TR ML g1 16
M N 03] 2Ry T T T2 W 92 XY TR WK 72 17
N1 201 7Y Ml D DRI AWKY 7 IR TV NN maNen 18
92 1NN (0¥ 0NN DY inipn WEn VoR oy My ov NN 19
AN 2R NI AWRT DY I OOTY DO W2 WR oy 20
INI9X2 70 AW PR 102 DY DAY N2 W A8 0 27
on7 N2 oY R 22
N-T:7 09
Ruth, Chapter 4 Verses 7—11

(@) Who is the subject of line 1?

(b) Translate.

DR DPWY WK 9377 737 73

© OCR 2016 Turn over
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(c¢) In what ways does Boaz show kindness in lines 7-8? Give three points.

(d) Translate.
line number

N1 UR2R DYRYT 12 03 KT PWI NN 1Y W0 02y opM 9
12 Y30 K2 TVRY1 DRV DONIXT T A7 WA W DY) [Jw7n 10
DWW AR 2T AYR? WK DX YRR 2797 TY T3 vpm 11

© OCR 2016
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(f) Inlines 16—-19:

(i) What does Boaz say he has done? Give two points.

...................................................................................................................................... [2]
(ii) What are his reasons? Give two points.
...................................................................................................................................... [2]
(g) Explain the meaning of the following:
(i) TNI9KR2 0 AW (ine 21)
...................................................................................................................................... [1]
(i) 2n? N2 oY R (line 22).
...................................................................................................................................... [1]
(h) Give the derivation of 02X"] (line 8). Give two points
.............................................................................................................................................. [2]

© OCR 2016 Turn over
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(i) Explain the vowel of the letter 1 in the following words:

@) XM (line 12)

...................................................................................................................................... [1]
(i) WWNI (line 19)
...................................................................................................................................... [1]
(i) 7RI (line 21)
...................................................................................................................................... [1]
(iv) WY (line 21).
...................................................................................................................................... [1]

[Total: 25 marks]
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Question 6

Read the following passage. Answer the questions in English.
Paragraph 1
line number
"I RPN 2837 YO N7 XY 2800 2f T o PR i ARz vy
DX UK 2 D3 DR 2T 7Y PRIV 220 R YO T 2

7Y WY NO2ORT "3 MR TR TWRG N0 YT X N1y 8

Y RN YN DWY WU TN A2 KM A2 4

w-10:3 017
Ruth, Chapter 3 Verses 13—15

Paragraph 2

T2 YRY X7) TN K3 AI2YN MRT DITY T OR DN W Y 5
2071 12742 TN (WA PRI AW AN X0 MW 28I TR X O oIy 6
T2V IO 2R PIRD WAY IR K2 IRM PIW I DI YWY 7

D 2RI 2123 791K 02 aRIA P12 IR N 8

T-10:N° DOV
Judges, Chapter 11 Verses 17—-18

© OCR 2016 Turn over
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Paragraph 3

line number
112Y *123 ON7a7 D72V TR NPT 1N MDY 2PN OT/N WO pYEN 9
207 UOR 078 NDY KT (WK T2V 9703 A2 1Y NRZ7 IR X9 w10
IXINY [DTR NIR DRYWIT K71 DINK PYIRY TR 192Y 2320 MmO onng 11
TR Y DI TIRY 1R 08 TAYN] 922 Wl TR YW AP 12
DR TP 7973 WIR 92 DY Y AR 02 ona? A1 aba N anty 13
TIN2 Y73 DOX 09K P79 MY 0D D9 DX TYRR VIR DN WY 14
TR 02 T 09KY 17727 NIIAYR DX YRR TAP (AWIR Tin2 09K 15

1R IRY MINCL NN CNIDNT TV OWIR 12 17K 72PN 079X WD 16

DX IV INIR IR 12 1277 1922 KDY N720 NN nYaw Xy MR 12 17
028 72U DUV D798 ROTT Y2 99N 17T niNayn 18

-N:2° DVDI
Judges, Chapter 12 Verses 1-6

(@) Who is speaking in line 1?

(b) Translate.

DR YR 27 07v2 apm 20 Y W:ﬁ’?ﬂ?; BYMm 2

TRV WK NNOWRT 27 MR TN TWRT A2 0D VI OX MR Y 3

VYT R NN DWW TN A2 IRM A2 TN 4

© OCR 2016



(c) Who is narrating Paragraph 2?

25

(d) Where is:

(i) Edom?

You may draw a sketch map.

© OCR 2016
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(e) What do the Ephraimites say to Jepthah / Yiftach (lines 9—10)? Give two points.

.............................................................................................................................................. [2]
(f) What does Jepthah / Yiftach reply (lines 10—13)? Give three points.

.............................................................................................................................................. [3]
(g) TN 7iN2 029K 7IN2 7Y9) AR QOIOK W98 MR O (lines 14-15) is difficult to

translate.

Explain the meaning. Give five points.

.............................................................................................................................................. [5]

© OCR 2016
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(h) (i) Translate. )
line number

TN 16
DR IMLOY NI GR 12 0277 122 X9 NPR0 MR NYaw Ky MR 19 17

TTRI MR g8

...................................................................................................................................... [2]
(i) NY2Y (line 17). Why do the men of Gilead choose this word?
...................................................................................................................................... []
(i) What is the function of each ” in the word 19 (line 1)?
.............................................................................................................................................. [2]
() What is the function of the final T in 1101 (line 7)?
.............................................................................................................................................. [1]

(k) Give an example from any of the passages of a verb where the last two root letters are the
same (also known as V"V / geminate).

[Total: 25 marks]

END OF QUESTION PAPER
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